Seat No. Enrolment No.:

Gujarat Technological University
Diploma Engineering C to D Bridge Course Examination

Subject Code: C300001 Date: 18/05/2016

Subject Name: Basic Mathematics

Time: 02.30 PM TO 04:00 PM Total Marks: 70

Instructions:

1. Attempt all questions.
2. Make suitable assumption wherever necessary.
3. Each question is of 1 mark.
4. Use of SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not allowed)
5. English version is authentic.
No. | Question Text and Option. Y&l el ([dscul.
logs (1/9) =

L. A |0 B. |-2
C. |2 D. | 1/3
logs (1/9) =

. |A. |0 B. |-2
C. |2 D. | 1/3
logs 16

2. |A |2 B. |3/4
C. |1 D. | 4/3
logs 16

. |A. |2 B. | 3/4
C. |1 D. | 4/3
Hlogs 125=x ,thenx =

3. A |3 B. |-2
C. |2 D |1
ol logs 125=x &lal el x =

3. A T3 B. [-2
C. |2 D |1
logy x* . logx v’ = ____

4. |A. |2 B. |5
C. |3 D. |6
logyx*.logxy'=____

¥. |A. |2 B. |5
C. |3 D. |6
logl.log2.log3=__ _

5. [ A. |logs B. |[logb
C. |0 D. |log3
logl.log2.log3=__

U | A |[logs B. |logb
C. |0 D. | log3
log; 7=

6. | A |logl B. |7°
C. |1 D. |7
log: 7=

g. | A |logl B. |72
C. |1 D. |7

7. | 4980 =
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A |4 B. [logd
C. |5 D. | logd
4 lq:;g4 5 o

9. [A. |4 B. | logd

C. |5 D. |[logs
1 + 1 -
logg & lopg &

& A [0 B. | 5/3

C. 1 D |15
1 1
log, Eu-l-h:ng5 [ =

¢. A B. | 5/3
C. 1 D. |15
logy a.log:b.log.c=

9 |A |0 B. |1
C. |logabc D. | None of these
logh a . logeb . logac =

¢ A0 B. |1
log(5) - log(C2) + logCo)=___

10. "TA"To B. |log?2
C. | 1 D. |log7
log(3;) - loge2) + log(Z)=___

10. A Jo B. [log?2
C. |1 D. |log7

7 4l=
2 3

1A T2 B. |13

C. |2 D. |2
7 4‘=
Z 3

WA T29 B. |13

C. |2 D. | 2
(1 2
The order of the matrix|3 2| is

12. 4+ 4
A |2X2 B. [2X3
C. 3IX2 D | 3X3

1 2
Aels E ﬂ oll $H 8.

2.

A [2Xx2 B. [2X3

C. 3IX2 D [|3X3
*—3 2 5 2

It [4 J‘[4 JJM“F———

13- A T3 B. |5
C. |2 D |0

x—3 2 5 2
‘ﬂ[ 4 L’l]_LI» ﬂ]aucﬂp_____

3. A T8 B. |5
C. 2 D |0

1. [A=[ %, % ]anaB=[] ] then AsB=__
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A [—}4 -?5] B [—?4 i]
<l il >y
A= [_22 _EE] U B=E ;] sla dl , A+B=___

Ry, | [_}4 _}5] . [-i4 i]
“ Al il >3
HA=[1 2 3] ,B=[: t|thenAB—

5

> A |46 15] B. [[189]
C. |[25] | D. []152]
ol A=[1 2 3],B=[§} slal dl AB=____ aL

5

> A [[4615] B. [[189]
C. |[25] D. | [52]
HA::; _24] then , adj. A=

—4 —2 -1 2

T B ] S A
“ G il I
ol A= ; ]cﬂ,adj A=

s | A0 T B
¢ [_é} i] > [; !il]
IfA:E i] then A? _ _

17 | _: 3] 8 _12 -f;-
C 179 16] D 113 1T

13 12 11 17
ol A= i i]<€l A?

0. |4 [; ] g {i;_ ;;]
SIS >l 1
£A=" 7 then, adj. (adj. A)=

18. (A ToA B. |0
C. |A D. |1
A A= U, adj. adj. A)=

. A A B. |0
(E‘-anaAseca _ >
sece tanel

19, A |2 B. |1
(E-EITIEII-ISECEII 2 O

ic. sece  Larne =
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A |2 B. |1
C. |-1 D. |0
If A is a square matrix then, A - A” is matrix
20. | A. | Diagonal B. | Symmetric
C. |Row D. | Skew -symmetric
ol A ARA Alls &l Al ,A-AT ARs aaL.
0. | A | [@sel B. | dRd
Matrix A = [i 2] is matrix
21. A. | Square B. | Column
C. |Row D. | Identity
MWs A=[; JA_ Qs d.
U | A | kA B. | adet
C. | eAm D. | fsn
If order of matrices A and B are p x q and q x r respectively then AB is of order
22 A. |pxq B. |gxr
C. [qxg D. |pxr
2. | %l Qs A ol B oll 5H efsH px g U gxr &l cll AB oll 5H __ al
A. |pxgq B. |gxr
C. [gqxg D. |pxr
(AB)' =
23. |[A. |A'B! B. |A'B
C. |B'A’ D. | B'A
(ABY'=
3. |A. |A'B! B. | A'B
C. |BA" D. | B'A
2 3 3 -1 1
IfA:L_L ﬂ],B=[2 E]thenE(A+B)=
A 0.5 1.5 B |3 1
| M5 5 4
c. |[3 2 D. |15 1
[3 0] [ 3 ﬂ]
Z 3 I —1]5 1
ﬂA:L@ u]’B_[z E]CD‘ ;(A+B)=
A. |[05 1.5 B. |3 1
. A | ] 5
C. [[* 4 D. [[15 1
[3 0] [ 3 ﬂ]
P T e—
A [ [T 1 B. [[2 2
25. 1 1 0 2
1 2] D |[L O
Lo 1 0 1
T 1 e
S HHEY
A. 1 17 B. 2 2
U 1 4 0 2
C. |11 Z] DL O
Lo 1 0 1
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A= [11 3] then A™=-——

A, 3 —2 B. |1 —3
s L
26. [1 ! | s 1 ]
c. |1 [—1 —1] D. |1 [ 3 2]
slz2 3 s5l-1 1
ol A= [ 1 ] Al AlF——
1 30
A. 3 -2 B. |1 —3Z
5 -
RS. [1 1 ] c E 1 ]
c. |1 [—1 —-1] D |1 [ 3 2]
SGL2 3 -1 1
If matrix A is non singular matrix then
27 | A | AT=A B. [ |4 =0
C. |AT=-A D. ||4] #0
ol AEls A AL AELs slat
29. | A. | AT=A B. ||l4l =0
C. |[AT=-A D. | |4l #0
a Bl _ 3a  3b| _
” ’r: gl =>men 3 o4 =
- 15 B. |45
C. 30 D. | 125
’a b =5, dl,Ea 35
e d
RC. FA T15 B. |45
C. 30 D. | 125
120 %= ___radian
A I B. |21l
29. 6
C. |20 D | 1T
3
120°= Aauet
A I B. |21l
Re¢. -
C. |2 D. [II
3
1 + cot’o =
30. | A sinZ o B. |sec?e
C. |cos’e D. | cosec’e
1 +cot’e =
30. | A. |sinle B. |sec?o
C. |cos% D. | cosec?o
tan30® =
A |1 B. | =
31 2 +3
C. |1 D. |3
tan30°=
A |1 B. [ 1
39q. 2 NE
C. 1 D. \,."r3
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cos(180° +0) =

32. | A. |sine B. | -cose
C. -sino D. | cose
cos(180° +0) =

32. | Al sine B. | -cose
C. -sine D. | cose
sin(-0)=

33 | A. | -cose B. |-sine
C. sin o D. |cose
sin{-e)=

33. |A. |-coso B. | -sine
C. sin o D. |cose
sec 240 ° =

34. [A. |2 B. [112
C. |-12 D. [2
sec 240 ° =

3%. A |2 B. [112
C. |-12 D. |2
Period of sin 9x is

35. | A. [T1/9 B. [2II
C. | 2119 D. | None of these
sin 9x ofl lacdslo L.

WA T1m B. [ 20
C. 211/9 D. | None of these
Sin 237 (1/2) °- sin® 7 (1/2)°=

16 | A | 112 B. | 1Az
C. |1 D. | 1/2v2
Sin 237 (1/2) °- sin® 7 (1/2)°=

3¢ |A |12 B. 1Az
C. |1 D. | 1/2v2
If tano = 3/4 , then the value of tanZo=

37. | A | 2477 B. [ 1277
C. |12/25 D. | 23125
ol tane = 3/4 &l cll tan2e oll (FHct L2l

39. TA 2417 B. [12/7
C. |12/25 D. | 23125
Sin? (40°%) +sin? (50%)=__

38 | A |-1 B. [0
C. |1 D. |12
Sin? (40°) +sin? (50%)=__

3¢. [A. |- B. [0
C. |1 D. [112
If tan A= 3 and tan B=4 then tan (A-B)=____

39. [A. [-1/13 B. | 177
C. |-1 D. |1
o tan A= 3 Wol tan B=4 8lal dl tan (A-B)=____ &l2L

3¢. [A [-113 B. [1/7
C. |-1 D. |1
cos!(-x) = . xel-1,1]

40. | A. |cos'x B. |sin'x
C. |-cos'x D. | II- cos'x

wo | cos(x) = , xe[-1,1]
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A. |costx B. |sinlx
C. |-cos'x D. | II- cosx
cosec! x +sec! x=___, x| 21
4l A. 0 B. | 1I/4
C. | 112 D. |11
cosec!' x +sec? x=___, |x|21
A To B. |14
C. 1172 D. |1
sin'(12)=___
42, | A. II/6 B. | 1I/3
C. | 112 D. |11
sinl(1/2)=_____
¥2. | A. /6 B. [II/3
C. (112 D. |II
tan” (1/2) + tan " (1/3)=
43, | A. 112 B. |1I/4
C. |1I D. | None of these.
tan” (1/2) + tan ' (1/3)=
%3, A. 112 B. | 1I/4
tan™'(c0) +sin(¥3/2) + cos(1/2) =
44. | A | 1173 B. | 71l/6
C. I1/7 D. | 1II/6
tan™!(c0) +sin"'(v3/2) + cos(1/2) =
¥¥. | A I1/3 B. | 7Il/6
C. 11/7 D. | 1I/6
sin(A+B)=
45. | A. | sinAcosB+cosAsinB B. | sinAsinB+cosAcosB
C. | sinAsinB-cosAcosB D. | sinAcosB-cosAsinB
sin{A+B)=
¥U. | A. | sinAcosB+cosAsinB B. | sinAsinB+cosAcosB
C. | sinAsinB-cosAcosB D. | sinAcosB-cosAsinB
cos26=
46. | A. | 2(cosb-sinb) B. | cos’0-sin’0
C. | 2sinfcosB D. | cos?0+sin’0
cos20=
¥S. | A. | 2(cos0-sin0) B. | cos’0-sin%0
C. | 2sinOcosO D. | cos’0+sin’0
is a vector quantity.
47. | A. | Displacement B. | Distance
C. | Mass D. | Energy
A Uk qAQ B.
¥9. 2eloticl? B. | ad?
C. |em Gl
The magnitude of P(3,4,5) is
48. | A. |50 B. | V5
C. |5Vz D. |25
¥¢. | P(3,4,5) o] Hlel .
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A. |50 B. |5
C. |5v2 D. |25
The vector represents a unit in the direction of x-axis.
49. [A. [(0,1.0) B. [(1,1,1)
C. (0,0, D. | (1,0,0)
Ul 2 X-uetoll Baunt AsH uZa cald B.
¥€. A T(0,1,0) B. [(1,1,1)
C. (0,0, D. | (1,0,0)
If a=(1,2,1), b=(1,0,2), then |a@-b|=
50. [A. 3 B. [5
C. 's‘.'r5 D \u"r3
ol @ =(1,2,1),5=(1,0,2) <l |z -5| a2,
0. |A. |3 B. |5
C. |5 D. | V3
If a=3i +2j -k , then the direction cosine of @& corresponding to x-axis is
51. |A. |3 B. [ 214
C. |-1n14 D. | 3~/14
ol a=3i+2j -k cll @ of X-uel Aeel Esslusot AL,
ua. [A. |3 B. | 2//14
C. |[-1n14 D. |3/ 14
The angle between the vectors @=(1,3,-2) and b = (4,-2,-1) is
52. [A. o B. [ 112
C. 11 D. | None of these
ARl a=(1,3-2) A b =(4,2-1) dd ol yel aL2L.
wR. [A. |0 B. [112
C. O D. 1 sle we «tdl
If *=(2,1) and ¥ = (1,3) ,then unit vector in the direction of 3x - 2¥ is given by
1 1
. Az B. | -=(1,3)
C. i (4, -3) D. | None of these
ol £=(2,1) Wl F=(1,3) cll 32 -27 ol Rausll Asu Ak ALl
A |1 S
s (1) B. 1 —(13)
u3.
1
C. |54,-3) D. 1 5l8 wal «l
i(jxk=__
54. [A. -1 B. [0
C. 1 D. | None of these
i.(j x k)=
wy, A [-1 B. [0
C1 D1 8l ua «tél
If @ =(2,-3,-1) and & =(1.4, -3) ,then their cross product =___
55. [A. |7 B. [(13,5,11)
C. |-(13,511) D. | (3,1,-4)
U, %l @=(2,-3,-1) Aol b =(14, -3) cl ddell AR A 2RUSIR L.
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A |7 B. | (13,5,11)
C. |-(13,511) D. | (3,1,-4)
If x=(1,2,3) and ¥=(2,3,4) then their dot product is
56. [A. |20 B. [(64.9)
C. (26,12 D. | 14
o £=(1,2,3) Wl 7=(2,3.4) cll Aol (22 2QUSLR L.
Us. A T20 B. [(6,4,9)
C. (26,12 D. | 14
is a unit vector,
s7 A [(LLD B. [(-1,-1-1)
R PR
G373 ('ME"V'E"VE)
AsH AR 8.
w. A | (LLD B. | (-1,1,-1)
C. 111 D |i1Xi
(3 '3’ 3) (w"a 3 ’«.f'a)
If @ =(3,-1,3) is a given vector, then the vector of magnitude 6 in the direction a is
58. |A. |64 B. |6a
C. |alm D. | 6lal
A AR a@=3,-1,3) v @oll (Bau HL 6 Hiol URLdA 22 2L,
w. (A [ea B. |6a
C. |alm D. | 6lal
If the force F is acting on the point P then the moment of the force F about a point A is
given by 7
. A [aB.F B. | ABxF
C. Fx AP D. | None of these
ol un F (olg P awowa s 53 dl Foll (g A aunwas{l asHel
L2l
ue. _ —
A |aB.F B. | ABXF
C. |Fxap D. | 98 uat «1él
A particle moves from a point A (3,2,-1) to the point B(2,-1,4) under the effect of force
60. | F=4i-3j+2k. The work done by the force is units.
A |12 B. [ 10
C. |15 D. |17
WOl F=4i-3j+2k ofl AR 601 seL (dg A 3,2,-1) dl llg B2,-1,4) YHll 2elloticlR
co. | 52 B dl udc s - AsU.
A |12 B. [ 10
C. |15 D. |17
The circumference of a circle whose radius is 7 cm. is
61. "A [154cm B. | 44cm
C. 14cm D. | 48cm
7em. Blel tRgddl adaed uRy alal,
SV 1A [154cm B. [ 44cm
C. 14cm D. | 48m
A cube is having surface area 96 cm”. then its edge length is cm.
62. |A. |16 B. |38
C. |4 D. |32
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ol s AHuUotell AUl Aog0 96cm2 &lad dl,Aell ciayell couss cm. 2L,

S 1A |16 B. |38
C. |4 D. |32
The volume of a cylinder having radius 7cm and height 12cm is cm’
63. | A. | 1848 B. | 264
C. | 3168 D. | 1294
7em BlaRll el 12cm QLALS YRl AS olOUSIR of Usisn em® UL,
53. [A. [1848 B. | 264
C. | 3168 D. | 1294
The volume of a hemisphere of radius 3 cm is cm’.
64. [A. [1210 B. | 2411
. |18 D. | 3611
3 em Blwal YRlddl wHoldss] daisn cm’ ©.
S¥. [A. [121m B. [ 2411
C. |18 D. |36l
In an equilateral triangle the length of a side is 4 cm, then its area = cm ?
65. | A |4V3 B. |16
C. |64 D. | 36
Us dHoly Bslal ol ougy of 1w 4 Al &l dl Aef 8otso = A2
SU. [A. |43 B. |16
C. |64 D. | 36
The volume of a cuboid having length 5m, breadth 3 m and height 2 m is cm®.
66. | A. |30 B. |60
C. | 150 D. |90
s doltlel ofl oues 51l , ugloue 3 lzz wa Qe 2 Hl22 8. dl Ao telso=
oo | totlle aua
A. |30 B. |60
C. | 150 D. | 80
If the diameter and the slant height of a cone is 12 cm. and 14cm. The curved surface
7. |Brea of the cone is cm?.
AL | 264 B. | 528
C. | 176 D. | 1584
s ols ol Wl ol clld 12cm 3l 2l Qe 14em. .21 g oll asuulél of Soisn
o, | —— Cl’l’lQ. allal,
A, | 264 B. | 528
C. 176 D. | 1584
The total surface area of a cylinder is given by-
68. [A. [2I(r + h) B. [ 212
C. | 2IIrh D. | 2IIr (r + h)
AUUSLR ofl as AUlél of 5E Aasn L,
SC. [ A, |20 +h) B. | 2IIr?
C. | 2lIrth D. | 2Ilr (r + h)
In APQR, the length of the sides is Scm, 8cm and 11cm.Its area is cm?.
69. | A 4y 21 B. |8v7
C. [1243 D. | 107
APQR ofl 6logll of MU Sem, 8cm ,Hlem. & <l o] 8l2ls0 cm? 2L,
se. [A [4vz21 B. |87
C. [12v3 D. | 10v7
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A tank of length 3m, breadth 2m and height 0.5m can store litre water.
70. |A. |3 B. |30

C. | 300 D. | 3000

3. clowss, 20l usloues uat 0.51] Qaue wladl As etdl 1 _ [@e: waell el
70 (A |3 B. |30

C 300 D. | 3000

o ok ok H sl ok e sk Rk ok R
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